EERCE 201846 4 1TH (H) IR A Lk R
. st 3 e NN A 2SR ot N
L FHARHHR TARF T R & R E 4k Lok p P =
B Hrgitibe kg g BRI Fush
R4 (2N) B KT s BB TR R - BB BB B R bt oW bE
At | ®H 1z 2t 3 3 5i 73 i3 B3
st | it o B RO w9.08 (+2.8)| w9.25 (+2.8) |[Fil th2H(1) w9.26 (+2.8)| B3 B w9.38 (+2.8) |!RE  #(1) 9.58 (+1.4)[#ik (1) 973 (+1.4) 1% A1) 993 (+1.4) [¥8 #B—(1) 9.97 (+1.4)
INEVES 65117 50m
HES2=7 3 FiBY 2 =TT HBY 2 =TT HERAY 57 FBTIEL 7 ARC - 8 FRTAEL Y 5 ARC - $i8 FRTAEL Y 5 ARC - $i8
R . o | AAQ w9.00 (+3.9) 9.04 (+1.0) [t (2 w9.12 (+3.9) |[#E 5E%(2) w9.18 (+3.9) [¥E#E () 9.20 (+1.D)| KR 1KHE(2) 922 (+1.)|WE HR() w9.26 (+3.9)|#E EEQ) 930 (+1.4)
INEAED 67117 50m
FERAY 57 FBTIEL Y 7 ARC - 18 FBY 2 = TT&F HBY 2 =TT FBY 2 = TT&F FRTAEL Y 5 ARC - $i8 3BT CRCHIS R
#sEnT | 6A17r o | EEG 850 (+1.7) 854 (+1.4) 860 (+1.7) [/l FIA(3) 866 (+1.5) [fR  E5E(3) 8.67 (+1.7)|ta  1EL(3) 881 (+1.7) |78 #AG) 883 (+1.4)[A+E #(3) 893 (+1.7)
AN 6317 50m
HRY 2 =T T&F Saz7 HBTILEL v o ARC - #H HBY 2 =TT&F FBTIEL Y 5 ZARC - #B HBTILEL v 2 ARCHBE
SAITE 100 Bl EEWG) w14.86 (+2.7) |5 #A(4) 14.93 (+1.6)|{HFRE —(4) 15.03 (+1.6) |ELL  EA(4) w1561 (+2.7) | 7R #548(4) 15.73 (+1.6) | #EE  #i%(4) w16.05 (+2.7)|/h\8B= BAWQ) 16.08 (+1.6) 16.14 (+1.6)
7 m
FR TV ERCHIB R FRTIEL v 7 ARC - 3B RES2=7 HBTIEL Y& ARC - $18 HBY 2 =TT&F FBTIEL Y7 ARC - §8
6H1TH 100, wFH HEA) wl14.76 (+3.8) | k¥ E4(5) w14.78 (+3.8) [&HEFR  AB5(5) w14.84 (+3.3)| % IBA(5) w1491 (+3.8)| &S EKH(5) w15.25 (+3.3) | A% H%E(5) w15.28 (+3.1) | & #(5) w1531 (+3.1) K (5) w15.32 (+3.3)
7 m
FRTIEL v 7 ZRC - 3B $BTNEL Y7 ZRC - B FRTIEL v & ARCHIRA HRTILEL v & ARCHIRE HBTILEL v 7 ARCHRE PES2=7 HBTIEL v 7 ARCHRE 4R 7 IV ERCHTIEHR R
6H1TH 100 AR E(6) 13.07 (+1.2) [# £ 5(6) 13.09 (+1.2) [ =i FA(6) 13.10 (+1.2) (Bl f&4£(6) wi13.20 (+24)| 7+ 27X AU —(6) 13.42 (+1.2) @k KiW(6) w13.69 (+3.4) |84k BIA(6) 2 OEE(6) 13.93 (+1.2)
7 m
HB TV ERCHTR R Bk =T7T&F HBY 2 =TT&F RES2=7 HBTILEL v 2 ARCHRE #R T ERCHUR TR HBTILEL v 2 ARCHBE B7ALEL Y 7 ZRC - #1B
AT 1500, W =#(6) 5:0823| v 2w X #Y—(6) 5:11.90| EFE  HF(6) 5:21.44 5:2453|fIE HAB3(5) 5:29.41| ¥R AB(5) 5:31.43| @M {fRE(6) D EIR(S) 5:41.70
7 500m
’ FRTIEL v 7 ZRC - 3B $BTNEL v 7 ARCHIBE HBTILEL Y& ARC - $18 FBTNEL v 7 ZARCHTRE HBT IV ERCHTR R EFFNFH
FBTILE L v 2 ARCITREA 5481[3m8 7L €L v 2 ZRC - FTRA 55.75 58.40 778 7L £ L v 2 ARCHBEB 50.90[#78 7L E'L v 4 ZRC - BB 1:0003[38 7L EL v 2 2RC - 1:02.43 (#7387  ERC 1:02.61
HE H6) ) =HE AHG) KiE HK(6) ZHHA5)
6AI1TH | 4x1000R [ 29X #+ Y —(6) ) B L) FHE ER6) AR ML) ik KR(5)
LII10)) & ) EJT {0 Wi RA(6) AE AEABA(S) R 1EK(5)
A BA(6) A ) Bl fi%(6) hF BAG) Kig EE(5) R BENG)
o | e [F2 EXO w86 (+2.1) | Bl wa.65 (+2.2) [iE  RH(6) 448 (+1.9) @R 76 w440 (+35) 9 £#:(6) 437 (+2.0)[=E $870(6) 412 (+1.6) [#  BIK(6) w408 (+2.2) i 4.00 (+0.6)
Al =
T L ERCHBH R FhEES FRTINVEL v 7 ARC - #8 BTIVE Ly 7 ARCHTRRE FBTIEL Y 7 ARC - IR F1iB 7 ERCHUR PR FRT IV EL 7 ARCIHE FRTIVEL 7 ZARC - FR
wnr | enirn 100 KM E) 1059 (+1.3)[##{R  BH(3) 1068 (+1.3)[ER BF 1082 (+1.3) % 10.85 (+1.3) | K& BARER(L) 11.04 (+1.3) 11.08 (+1.3)| & fEARB 1112 (+1.3) [##k 22 wll.13 (+2.5)
37 | 6 m
: FRERREEA B ERRE A RizeAC HRMBE FHRK FHBK RizeAC
snirn | 500 4:09.04|FR  2(1) 41171 EA #RE3) 4:15.42| Al HE(2) 4:23.92 4:24.71 4:46.70|BE)Il HE 5:03.50
6 500m
RAEA RE HREREILA FrRHIKERE BENDON
. £FE LKD) 17:15.35 17:18.01
61T 5000m |7
FRHS
sA17E - A w6.71 (+2.3) 6.44 (+1.5) [ 1A E&i(4) w6.08 (+2.7) | fcik  #B3R(3) 5.72 (+1.1) [#eE  E—EB(1) 5.66 (+1.4)[&F #hE(1) w5.24 (+2.1)| 2B Hiit 4.99 (+1.3) |3 B2(1) 4.95 (+1.5)
6 A
RizeAC SEREILA R HBE—E FRES FR T o REE HRES
B L 9.90| ¥ (2
winr | onn | s |5 EHO FH @0
FRHS
. 100m |EE #H 12.03
M355 7 6HITE -
L7 |#8
it Bk 360 (+1.2
M455F 6HITA | bRk o (12
KX
it 8k 719
srn | s | %
R
N 100m |BIR EME 13.77
M50 F- 6H1T1 B
1.7 |#ORW R
. 100m |H0 HeE 14.69
M60 % - 61T
L7 |BES2=T
EA H— 7.21
M655) 7 onrn | s P #
HR P REE
| At ERE 7:54.11
MT70%F 61T 1500m .
FBHTRE—X
e = 638
I T
FRAvRAE—X
. 100m  |HE0 Bib 16.04
M759F 6171 )
L7 |#R
= 589
MBO % F- 6A17H | sk sk
BRI

w (wind assist) : IBEB %



EERCE 201846 4 1TH (H) IR A Lk R
. st 3 e NN A 2SR ot N
L FHARHHR TARF T R & R E 4k Lok p P P
B Hrgitibe kg g BRI Fush
LI () T R W2 - TR e R 2 BRI R AR 221 BB B
At | ®H 1z 2t 3t 3 5i 73 i3 B3
EERT | 6A17E o | TP EBED wo.79 (+2.4) [l EFI(1) w1021 (+2.4)[Bs FE(Q) w10.80 (+2.4)| 28 #(1) w10.81 (+2.4) [fEE  H&H(1) w10.95 (+2.4) i3 (1) w10.96 (+2.4)|#E w%#1) w11.06 (+2.4)
ST 6117 50m
FRTIEL v 7 ZRC - $B FBTNEL Y 7 ZRC - FB HERAY 77 FR/TIVEL Y 7 ZRC - $B FR/TIVEL Y 7 ZRC - §8 HBY 2 =T T&F HBTINEL v 7 ARCHBE
NS SR o A4 H(2) 9.15 (+1.8)|# BR(Q) 9.22 (+1.8) | AR WE#2(2) 9.35 (+1.4) |/t HHEE(2) 9.46 (+1.8) [+ £ Hea(2) 972 (+14)|ZH #HK(2) 9.80 (+1.4) | hE (2) 10.13 (+1.8) 10.34 (+1.4)
N2k 6117 50m
HERIDY 77 FBTNEL v 7 ZRC - $iH HBY 2 =TT&F HBTIEL v o ARC - $8 FR/TIEL Y 7 ZRC - §8 HBY 2 =T T&F HBTINEL v 2 ARCHIBE HRY 2= TT&F
R i) w8.64 (+3.0)[FHE < 55(3) w8.67 (+2.7)|fher #R(G) w8.73 (+3.0)|FRE  #H() w8.78 (+3.0) iE HEG) w8.79 (+2.7)| =@ i) w8.82 (+3.0)[#Ek ®K(G) w9.35 (+2.7)
. R A+ BV 2= TT&F FiBY 2 =TT HiBY 2 =TT FBY 2 = TTRF FBTIEL Y7 ZRC - HiB FBTIEL Y7 ZRC - HiB
LT | 6RITE 50m
BE BF(3) w8.78 (+2.7)
RES2=7
6171 100 SRE HLE) w1615 (+2.7)| % H(4) w16.30 (+2.7) [ #EF(4) W16.55 (+2.7) |/vik  Fii&(4) w1656 (+2.7) [V A0 (4) w16.83 (+2.7)[BTEE #EF(4) wi7.01 (+2.7) [ibA FIFR(4) wl7.02 (+2.7) 17.05 (+0.9)
7 m
HBTINEL v 7 ZARCHRE RFFH TIEL Y7 ZRC - $B PEZ2=7 HBTIEL Y2 ZRC - ¥ FBTNEL 7 ZRC - #R HBTLEL Y 2 ZRC - #8
[ oo |EL BEG) w14.49 (+2.6) [k —%(5) w15.01 (+2.6) HEEG) w1523 (+2.6) [Fi2 %H%(65) w1540 (+2.6) [# =RF(5) w15.44 (+2.6) [ 8 EafR(5) 1557 (+0.5) [ &R () 15.60 (+0.5) @18  #7(5) 15.81 (+0.5)
7 m
FiBY 2 = TT&F BT ERCH B R BY 2 =TT&F FBT L CRCHBHR FBY 2= TTEF FBY 2 = TT&F F/TIEL Y 7 ZRC - HiB F/TIEL Y 7 ARCHRE
6H1TH 100 Bh F2(6) 13.63 (+1.6) |3RTL &H(6) w14.32 (+4.0) (R #E7E(6) 14.40 (+1.6)|[H#  EAI(6) w14.54 (+4.0) | FHA  ==(6) w14.55 (+2.8) | TE:%  :(6) w14.59 (+4.0) |51 —7E(6) w14.67 (+4.0) 14.80 (+1.6)
7 m
HERSAY 77 #1387 ERCHTIBHRR ¥ a2 ZTT&F HBTIEL v 7 ZARCERE HFRAY 77 FBTIEL Y - ARCHIBE 487V ERCHTIEHR R
SAITE s00 iR H4EE) 2:42.023%3 B (6) 2:44.79| 2R L#(6) 2:4859| ARE  FRK(6) 2:49.54 37E  %3E(6) 2:50.54|#E  —7E(5) 2:58.06[:84 EH(6) 2:58.91 2:59.30
7 m
HEL2=7 FBY 2 =TT HBT L CRCHIBHR FRT IV ERCHBF R #BY 2 =TT
FBTLE L v 2 ARCHTRA 59443738 7 L CRCH B 1:00.08 A 7 7 1:00.67 [ 73 7)1 £ RCH 1:00.80 |3 1:01.01( 3 0273|387 L EL v 2 ZRC - 1:03.25 1:04.14]
SRE HD) B £6) AE ) 75 NEE EEG)
6817R | 4x100nR | &5 Za)(6) B (6 FA =6 g HE VLY (6)
B E7(6) ARE () Hh E2(6) +H =i
TEE 0(6) EH —7E(6) e 4E4R(E) £ 5B
earn | ew B ER(6) 3.80 (+1.8) [FftA F(6) 381 (+1.7)|BH #74(6) 3.55 (+1.5) 3.49 (+1.7) w3.48 (+2.5) | #tE 346 (+0.6) [T 3.46 (+1.0) 3.43 (+1.8)
6 A
FERAY 77 BT ELy 5 ZRCHTRH BTN EL 5 ARC
o § B EREQ) 13.26 (+1.4) 13.32 (+1.4) (%58 ) 13.72 (+1.4) 1470 (+1.4) 14.83 (+1.4)
b~ T | 6H1TF 100m | i
FRE—B BE
£ OERQ 731
6HI17TA | fahik A? pm‘)
FRE—B
) 100m  |/\WE &F 14.07
W50% - 6HITE o
L4 |#RE
) 100m |/E EEL 17.47
W60#4F 6HITE
1.4 |HORWHRER
s 354 (+1.
6HITA | bRk A% * (12
FRhREE

w (wind assist) : BB %




